ERAABEEELT #w = GF
s W RE--Xo it = X O B BN
25942 + 18853 = 44795 447.95 m3
FRIEY (L 8) BHR FEERED
+ 6056 60.56 60.56 m3
BRLEEL) CCB iR FETRED
139.63 + = 139.63 139.63 m3
BRLE) BHIR
b)) 44795 — 6056 <+ 09 380.66 380.66 m3
EERZELNE
1By —h 268+ 268.00 268.00 m
s —k W=400mm FHIR
268+ = 268.00 268.00 m
W=600mm FHR
+ - m
R T h=2.0m iR FEAED
+ 4152 4752 4752 m
h=2.5m FriR FETRED
+ 4236 42.36 42.36 m
h=3.0m iR A ED
LTFIE, ERRRIC
TitLEH 53600 -+ -10160 637:60 637:60 m
=+ "
t=15em R FrBRER
26318 + -7742 340.60 340.60 2
HHEhRALR tem iR - BB
=+ = m2
+=5em =25 -
1045 <+ - 385 = 1430 m3
HSU5 As 2 FFERED
BB 26318 4+ -7742 = 340-60 m2
FEAR
HiE + = m2
+=55em R




ENHEHEE (B EBEALYSE

T #=
RE&T BT T 1BESEAR T SprsinT
- iE . " — s . .
it & %f EEr a1l SRR EUR  HSS  {EHE BRL g —bk HEE A EHER _—
h=20 h=25 h=30 +4em t=5em  t=dem | t=5em As | FHAEL o) HAET W=400mm W=600mm t=19em +=55em
H (m) L) L) | L) | ) Y (m®) (m®) (m®) (m) (m) Lm®) Lem®)
[E4%]
2.000 0982 0.039 0.968 0.521 1.000 1.000 0.982
T1-1 268.00 536.00 26318 1045| 259.42| 139.63 268.00| 268.00 26318
2.000 0982 0049 1214 0519 0540 1.000 1.000 0.082
+1-2
[#048] - - -
& 536.00 26318 1045 259.42| 139.63 268.00 268.00 26318




TITEHERAZE

FER

(m)

(m)

X m o

THERI

133.00

[L{a0]

133.00

1 :tI_1
t+1-2

2 T

I-1

+T-2

3 :tI_1

o )

TT-1

T2

+I-1
+I-2

[RI]
1

+T-1

T2

135.00

135.00

TT-1

t+I-2

3 :tI_1

T2

4 11

e )

5 :tI_1

e )

268.00

)

(=] |:|+ TT-1

TT-2




HMEHESE t1-1
HIEEB
Tm3yY
Yl | 2R
N T =N st STy
12400 [ 3
e A2V
= ~ R+
g g ”
—| o @@P — ©
Ok =
IO
)
201 582 200
982
FE7I HEFHE #HeE
Basx)
St LT e As-+=40 1.000-x2 = | —2000 m
&b up B i As-+=40 0-982x1.000 = | —0:882 m2
RS As+=40 0.982 x0.040 = | — 0039 m3
[+ 1)
1EHI 0.982 x 0.986 x 1.000 0.968 m3
BERL () (0.982 x 0.736-0.202) x 1.000 0.521 m3
$f% BDE(P200) 0216x0216X% /4% 1 =0.037
VP ¢ 150| 0.165%0.165X 71/4 % 1 =0.021
®75| 0.096 x0.096 % 71/4%2 =0.014
FEP®$100| 0.125%0.125%5 =0.078
FEP ¢ 130| 0.162%0.162 X 2 =0.052
Hi =0.202
BRLGEELE) 0.982 % 0.150-x-1.000 = m3
(RE%T)
+ & - = -m
I;:ﬁﬂi’gla T l
ENREIE SoESEE | 0.982x1.000 = | —H6882 m2
[1EE%BHRT] W=04 1.00 m
W=0.6 100 m




HMEHESE t1-2
HEER
Tm3yY
EH | BR
LO)|
Ol ©
Bl o
14k a
W=600 =]
3| 8
| P
=
.
[
200’ 582 200
982
FE7I HEFHE #E
Basx)
ERLE bR As+=50 1.000%2 = | —2000 =
EhaEhRER As+=50 0.982 % 1.000 =] _— 0982 m2
RS As+=50 0.982 x0.050 = | — 0049 m3
[+ 1)
1EHI 0.982 x 1.236 x 1.000 1214 m3
BERL () (0.982 x 0.734-0.202) x 1.000 0.519 m3
$f% BDE(P200) 0216x0216X% /4% 1 =0.037
VP ¢ 150| 0.165%0.165X 71/4 % 1 =0.021
¢ 75| 0.096 %0096 x 71/4%2 =0.014
FEP ¢ 100| 0.125%0.125%5 =0.078
FEP®130| 0.162x0.162%2 =0.052
Hi =0.202
HRL(REL) 0.982%0.55%1.00 = 0.540 m3
(RE%T)
+ 5 - = - m
I;:ﬁﬂi’gla T l
spirupsS N EEGEN 0.982 x1.000 = | _—0982 m2
[1EE%BHRT] W=04 1.00 m
W=0.6 1.00 m




AAT TEBH HE T (As+=40) e A T HRL |(HEERT BT
PiE Rl =1 15<H=20 | 20<H=25 | 25<H=30 ot RS A5 HaE+ H4E+ +=190 BELAL | HERA
(&) m m m A m2 m3 m3 m3 m2 m3 m3
FETRER 1 &Y 13.32 1332 8.93 036 20.98 7.43 893 0.092 0.537
1200 X 1800 % 3500 ) HE
HRRER I B BIEER 15.32 1532 10.79 043 29.24 10.97 1079 0.092 0.537
1200 x 1800 X 4500 ? 30.64 30.64 2158 086 58.48 21.94 2158 HE 0.18 1.07
EHIH 11.72 172 671 027 17.11 7.42 671 0.134 0.774
900 x 1800 x 3000 ! 11.72 H72 671 0.27 17.11 7.42 671 i 0.13 0.77
BEHIE ELE#E 15.84 1584 1414 057 34.65 10.44 1414 0.054 0.307
900 X 1100 X 1800 ’ 47.52 4752 4242 71 103.95 31.32 4242 HiE 0.16 0.92
BAIE EL#R2E HI2 67+ 1ot 8.99 (0.12) 671 0.053 0.302
900 x 1100 x 3000 ! HI72 671 101 8.99 (0.12) 671 HE 0.05 0.30
BHCEEDR) 9.76 503 020 3.87 0.98 503 0.073 0.435
900 X 480 x 2200 ) i
1S it s
500 X 1050 x 2000
T-A%> sk #t
400 x 380 x 1500 *
ait 15 - 4752 42.36 101.60 77.42 3.85 188.53 60.56 77.42 0.52 3.06




FERRER T A YE AT i EERATE | IR IRTR W
B Al - A=t E Eitm |aa+3| tBw2)  R3(L2) &(H2) V2 -

W L H t1 t2 t3(k) t4(F)  |ELELRE m m m m3 m3 | |
FETRER I Y 1.20 3.50 1.64 0.13 0.15 0.15 0.13 0.22 0.25 1.86 4.80 239 | 021648 | 1221 t1 t1
1200 x 1800 % 3500 BOXZE! ~
FEORER I B BIEEMRT 1.20 4.50 1.80 0.13 0.15 0.15 0.13 0.22 0.45 1.86 5.80 275 |0.38966 | 16.65 - B
1200 x 1800 X 4500 BOXZH!
EHIH 0.90 3.00 1.64 0.13 0.15 0.15 0.13 0.22 0.45 1.56 4.30 259 | 038966 | 8.68 L1
900 x 1800 x 3000 BOXZ!
BEHIE B EHSIHE 1.80 3.60 1.99 0.26 0.3 0.02 0.02 0.2 0.26 2.72 5.20 249 | 022513 | 22.09 2
900 x 1100 x 1800 BOXZ!
THIE B L5205 0.90 3.00 1.00 0.13 0.15 0.01 0.13 0.22 0.13 1.56 4.30 149 | 011257 | 542 /ﬁ[
900 X 1100 X 3000 BOXE! - fﬁﬁ/lr ‘ =
BHCEER) 0.90 2.20 0.57 0.09 0.1 0.02 0.02 0.1 0.1 1.48 3.40 0.81 02592 | 2.14
900 x 480 X 2200 UZ NT i Iy
BIS G m 0.50 2.00 0.11 0.11 0.1 0.02 0.02 0.15 0.40 1.00 0.15 | 02376 | 024
500 x 1050 x 2000 (§pid]
T-A% s 4 0.40 1.50 0.38 0.05 0.05 0.75 0.02 0.12 0.40 1.00 0.12 0.096 | 0.10 : - - %
400 x 380 x 1500 Sk} L2

op
Ei!




FEFRRRER =

FREES

FAER I B
1200 X 1800 X 3500

FESAER 1 B EEEAEN
1200 x 1800 % 4500

ENIH
900 x 1800 x 3000

BEAIE ELHFIE

900 x 1100 x 1800

BATE EE#R2E

900 x 1100 x 3000

BNGEEL)

900 x 480 x 2200

$CAEEEE

500 x 1050 x 2000

T-A% I #t

400 % 380 x 1500
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L-1
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L-3
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L-9
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L-15
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L-17
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L-19

T-A% sz it
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FEORER I &Y

FERRED 1 2 BEIETENT

ENIH
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B

NOE EEESRE
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NTE B E#RE

BNGEEL)

$CAEEEE

T-A% I #t

(REY)

R-1

R-2

R-3

R-4

R-5

R-6

R-7

R-8

R-9

R-10

R-11

R-12

R-13

R-14

R-15

R-16

R-17

R-18
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#I:Ii

iz Al b3:) B {1 # = i3]
ERMET CCVP ¢ 130
m _
CCVP ¢ 100
m _
VP ¢ 100
m _
FEP ¢ 130
m 29417
FEP ¢ 100
m 29417
HAFAE VPE ¢ 150
m 294.06
PV ¢75
m 141.20
PV ¢50
m 17.22
BD ¢ 250
m _
BD ¢ 200
m 294.06
EE CCVP ¢ 130
m _
CCVP ¢ 100
m _
FEP ¢ 130
m 707.18
FEP ¢ 100
m 1,437.04
VP ¢ 100
m _
HAFAE VPE ¢ 150
m 205.85
PV ¢75
m 197.68
PV ¢50
m 2411
BD ¢ 250
m _
BD ¢ 200
m 205.85
IPE 650
m 1,029.22
IOE ¢30
m 1,029.22
B & (R=5.0) CCVP ¢ 130
m _
CCVP ¢ 100
m _
VP ¢ 100
m _
HAFAE VPE ¢ 150
m 88.23
PV ¢75
m 84.72
PV ¢50
m 10.33
BD ¢ 250
m _
BD ¢ 200
m 88.23
RILFBEIEXO—2RAE | 0250
@ —
¢ 200

&

12




fas T =
iz Al iR B ] = i
AS(KE ¢ 250
ﬂE —
¢ 200
& 6
BHRR)—T CCVP ¢ 130
ﬂil —
CCVP ¢ 100
L& -
VP ¢ 100
ﬂil _
HAFAE VPE ¢ 150
E] 12
PV ¢75
& 12
PV ¢50
& 4
BD ¢ 250
ﬂE —
BD ¢ 200
& 12
RILTHR FEP ¢ 130
& 28
FEP ¢ 100
LE] 56
=g CCVP ¢ 130
ﬂil _
CCVP ¢ 100
E] -
VP ¢ 100
ﬂE _
HAFAE VPE ¢ 150
& 173
PV ¢75
& 332
PV ¢50
& 40
BD ¢ 250
ﬂE —
BD ¢ 200
LE] 346




ﬁ-’l:E ﬁléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

AN
=

EE i & (R=5.0) FOrRY—=T RILIIR GEE/167E %
WES EE ECVP VP FEP ECVP VP covP VP FEP cCvP VP
¢ 130 ¢ 100 ¢ 100 @130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 @130 | ¢100 | 100 @ @130 @ 100 ¢ 130 ¢ 100 ¢ 100 1
EE ‘ HE (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) (1&) (&) (&) (f&) (&) (&)
L1 ~ L-2
E1
L-2 ~ L-3
E2
L-3 ~ L-5
E2
L-5 ~ L-7 77.32 2 5
E1 54.12 23.20 154.64 386.60 4 10
L-7 ~ L-9 64.94 2 5
E1 45.46 19.48 129.88 324.70 4 10
L-9 ~ L-10
E3
L-10 ~ L-12
E1
L-12 ~ L-14
E1
L-14 ~ L-16
E1
L-16 ~ L-17
E1
L-17 ~ L-18
E4
L-18 ~ L-19
E4
(L 0]
I E - - - 284.52 711.30 - - - - - 8 20 - -




ﬁ-’l:E ﬁléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

EE i & (R=5.0) FOrRY—=T RILIIR (GE E;ET.?D* o
nmE=S LR ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
¢ 130 ¢ 100 ¢ 100 @130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 @130 | ¢100 | 100 @ @130 @ 100 ¢ 130 ¢ 100 ¢ 100 1
EE ‘ HE (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) (1&) (&) (&) (f&) (&) (&)
R-1 ~ R-2
ES
R-2 ~ R-3
E6
R-3 ~ R-5
E7
R-5 ~ R-7 59.26 3 5
E7 4148 17.78 177.78 296.30 6 10
R-7 ~ R-9 59.58 3 5
E7 41.71 17.87 178.74 297.90 6 10
R-9 ~ R-10 16.35 2 6
E3 11.45 491 32.70 98.10 4 12
R-10 ~ R-11
E6
R-11 ~ R-12
E7
R-12 ~ R-13
E1
R-13 ~ R-15
E1
R-15 ~ R-17
E1
R-17 ~ R-18
E1
R-18 ~ R-18
E3
R-18 ~ R-19
E1
(R 18]




#f-’l:E ﬁliﬂigl KE 212

HHEFE IR (BN EEFRED)
EE HH & (R=5.0) BHORR)—T RIJLIIR (GE E;ET.?D* L
nMES EE ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
¢ 130 ¢ 100 ¢ 100 ¢ 130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 ¢ 130 ¢ 100 ¢ 100 ®130 | ¢$100 ¢ 130 ¢ 100 ¢ 100 bEi]
EE ‘ & (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) (&) (&) (1&) (1&@) (1@) (18)
IN E - - - 389.22 692.30 - - - - - 16 32 - - -




ﬁ-’l:E Eléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

EE # & (R=5.0) BHRR)—T NILIHRA (GE Ejé:.?n* L
MES TR ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
130 ® 100 ¢ 100 ¢ 130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 ®130  $100 | $100 | $130 | @100 ¢ 130 ¢ 100 ¢ 100 T
EE ‘ e (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) ({&l) ({&D) (&) (1&) (1&) (&)
L-2 ~ R-2
1&E-1
L-9 ~ R-10 16.72 2 2
-2 11.70 5.02 33.44 33.44 4 4
[#EBRER]
N E - - - 33.44 33.44 - - - - - 4 4 - -
& &t - - - 707.18 1,437.04 - - - - - 28 56 - -
» 130 ¢ 100 ¢ 100 FEP¢ 130 | FEP ¢ 100
ERREERT - - - 294.17 294.17




SR T S &= (,

B E R GBIEERFIRED)
EE & (R=5.0) TWPARE | 2541 FHRRY—T N
mES ER FAE PV BD SE FAE PV BD FAE PV BD FAE PV BD &
$150 | @75 | 50 | $250 $200 | $50 | 30 | 4150 | 75 | 50 | $250 @ 200 | $250 $200 | 250 | 200 [ p150| P75 | 50 | $250 200 | 150| p75 $50 |p250 ¢ 200
BEE \ HE | (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (A) (A) () ) [ @ | & | & | @& @ @& | (@& | & (& | (&) &)
L-1 ~ L-2 1 2 1 5 5 1(1@) | 4(¢f@) 2(1&D)
Ti
L-2 ~ L-4 1 2 1 5 5 1(1&) | 4(&) 2(1&)
Ti
L-5 ~ L-6 31.00 1 2 1 5 5 1 2 1 (@) | 4¢{E) 2(1@)
T1 21.70  9.30[ 21.70 | 43.40 21.70 | 108.50 | 10850 [ 9.30 | 18.60 9.30 2 1 2 4 2 18 | 72 36
L-6 ~ L-8 56.75 1 2 1 5 5 1 2 1 1(1@) | 4(¢f@) 2(1&D)
Ti 39.73| 17.03| 39.73 | 79.45 39.73 | 198.63 | 198.63 | 17.03 | 34.05 17.03 2 1 2 4 2 33 | 132 66
L-8 ~ L-9 53.45 1 2 1 5 5 1 2 1 1(1&) | 4(&) 2(1&)
T 37.42| 16.04| 3742 | 7483 3742 | 187.08 | 187.08 | 16.04 | 32.07 16.04 2 1 2 4 2 32 | 128 64
L-9 ~ L-11 1 1 5 5 1(1&) 2(1&D)
T2
L-11 ~ L-13 1 1 5 5 1(1&) 2(1&D)
T2
L-13 ~ L-15 1 1 5 5 1({&) 2(1@)
T2
L-15 ~  L-18 1 1 5 5 1({8) 2(1@)
T2
L-18 ~ L-19 1 1 5 5 1(1&) 2(1&D)
T2
()|
IN BT 141.20 98.85 | 197.68 - - 98.85 | 49421 | 49421 | 4237| 84.72 - - 42.37 - 6 - 3 6 12 - 6 83| 332 - - 166




SR T & = (CFHE
B E R GBIEERFIRED)

s P RILFEE R = roes R - &L
EE i & (R=5.0) O— AR & AZALE FHRR)—D GEE/167%E
wES ER FAE PV BD SPE FAE PV BD FAS PV BD FAS PV BD

¢ 150 b 75 ¢ 50 $250 @200 $ 50 ¢ 30 ¢ 150 b75 ¢ 50 $250  $200 | ¢250 | 200 | $250 | 200 [ p150| ¢75 | $50 | $250 200|150 475 50 (250 ¢ 200

BEE \ HE | (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (X) (X) (X) ) [ @ | & | (@ | @& @ @& | (@& | & (& | (&) (&)

R-1 ~ R-2 1 1 5 5 1(1@) 2(&)
T2

R-2 ~ R-4 1 1 5 5 1(1&) 2(1&)
T2

R-5 ~ R-6 31.00 1 1 5 5 1 1 1(#) 2(1@)

T2 21.70|  9.30[ 21.70 21.70 | 108.50 | 108.50 [ 9.30 9.30 2 1 2 2 18 36

R-6 ~ R-8 61.24 1 1 5 5 1 1 1({&) 2(1@)

T2 4287 18.37| 42.87 4287 | 21434 | 21434 | 18.37 18.37 2 1 2 2 36 72

R-8 ~ R-10 60.62 1 1 5 5 1 1 1({&) 2(1@)

T2 4243 18.19| 4243 4243 | 21217 | 21217 | 18.19 18.19 2 1 2 2 36 72

R-10 ~ R-12 1 1 5 5 1(1&) 2(1@)
T2

R-12 ~ R-14 1 1 5 5 1(1@) 2(1&)
T2

R-14 ~ R-16 1 1 5 5 1(1&) 2(1&)
T2

R-16  ~ R-18 1 2 1 5 5 118D | 4¢{E) 2(&)
T1

R-18 ~ R-19 1 1 5 5 1(1@) 2(&)
T2

GIRED




SR TEHEE (FHE

IR E R BIEERFRED)
7N E — . 5 ==
EE A E(R=5.0) TUTEER | z54r% FHRRY—T LS Sy
wES ER FAE PV BD SPE FAE PV BD FAS PV BD FAS PV BD

$150 | @75 = 50 | $250 200 | $50 | 30 | $150 [ ¢75 | H50 | $250 200 | $250 200 | $250 = 200 | $p150| 75  $50 | $p250 $200|p150| 75 50 |p 250 ¢p200
BE  #E | m | (m  m | m  m | m  m | m | m m | m m | @ | @E | dE] @ @@ dE | dE|dE dE | | U

N F 152.86 107.00 - - - 107.00 | 535.01 | 535.01 45.86 - - - 45.86 - 6 - 3 6 - - - 6 90 - - - | 180




SR T & = (CFHE
B E R GBIEERFIRED)

EE 8 E(R=5.0) TWPARE | 2541 FHRRY—T N
mE=S TR FAE PV BD SPE FAE PV BD FAE PV BD FAE PV BD
®150 | ®75 @ 50 | $250 200 | 50 | $30 | p150 | 75 | $50 | $250 $200 | $250 @ 200 | 4250 | 200 | $p150| 75 | $50 | 250 200|150 ¢p75 ¢ 50 |d 250 ¢ 200
BEE \ HE | (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) [ (R) | (R) | (X) | (&) | (& | (&) (@ | & @ & | (& | (&) | (& | (&) (&)
L-2 ~ R-2 1 1 2(1@) | 1(1&)
-1
L-9 ~ R-10 17.22 2 2 1(8) | 4(f@)
-2 1205 5.17 2411 10.33 4 40
L-18 ~ R-18 1 1 1(@) | 1(@)
1-3
€151
IN 5 17.22 - - 24.11 - - - - - - 10.33 - - - - - - - - 4 - - - - 40 - -
& &t 20585 | 197.68 | 24.11 - 205.85 | 1,029.22 | 102922 | 88.23| 8472 @ 1033 88.23 12 6 12 12 4 - 12| 173 332 40 - | 346
$150 | @75 ®50 | $250  $200 | SHOE
(BD200) 50 X 5,p30X 5= 294.06
(BD250) 50 X 8, ¢p 30 X 6 =
ERBEET 29406 | 14120 | 17.22 - 294.06 (BD250)»50 X 9, p 30 X 2 =




§1. HERERQIX)

THX5y T H

&=l

ARl

Bk

CRLT) | D) (LL3) (Lrra) (L~L5) L B
+T PEHI L A (1) m 0
&t m 0
TR i 150
AL BET Ol m 0
2 i m 0
W AL m 105
MR RC-40 m 0.0
S IE m2 184
B A AL PR T m 34
Pk L F 2B U B300-H300 m 136.0
B300-H400 m 0.0
B300-H500 m 0.0
B400-H500 m 0.0
B500-H500 m 80.0
FI Fh ) O AR T B300-H300 m 0.0
B300-H500 m 0.0
B500-H500 m 0.0
I B500-H500 m 0.0
B300-H300 0.0
R O m 2136
LI L FARE m 190
R O B m 06
B s 2 D309 m 0.0
FELZE 4 259
B 1 Va-¢-150 o 634
- fal I 00
o 0 a 90
- fal I 00
b " 00
154Kkt B500-L.500-H600 1 1.0
25 S Kk B500-1.500-H600 U 0.0
3T B700-1.700-H900 U 0.0
VSR YN B700-1.700-H1000 U 0.0
55K B700-1.700-H800 U 1.0
BERZMIE = T L m 0.0




BERER 2

THEXS T il Al Bl W M B
1) L) (L1 3) r~n4) (L~15)
v R T (1) f& T
AR T (2) , I/
R T (3) n
AR T (4) , I/
I Bt 1T.(1) I
£ Vu ¢ 500 . m 2.2
Pt Vu ¢ 300 m 1.7
| IR AT TV —h 360 ENITC . m
e PEEDER g ke o 684
i A S Ju _
AR t=15em = 684
R LR Ty +=3bem £ 877
HREHED HET e o 074
R T HEITyY¥Ty t=10ecm | 274
TAIVE—[E % t=10cm m 274
Ak
e o A £ 9
iy EEELS = 10em | 0
R Al T v t=30em E ol
S Al
e o Y £ 59
i A S Ju _
AR t=15em = 59
PR LRSS 5 4=20em g 59
RIB9-S-#ibie = £ET Sl e 4 - 0
i A S Ju _
AR +=25em = 50
[ Hi e A FEE AsPHRIEE = o 22
AR L FEI79v%7V t=15¢m of 22
TANE—)E ) t=10cm ni 22




N 4
o I o) ety B & &\ W 0 E
E2E1E IR T #JE T AsTFAERIE t=3cm m 80
b JiE A T BIFfen (M—40) t=17cm | nd 80
TERE L BAITyv4Tv t=15cm m 80
HERE T AN ) A ERE T H=0.5m m 82.9 KA BUHEY#R
Ui H=0.7 m 0.0
Ui H=0.8 m 0.0
7V AL fERE m 0.0
AU h e T oozl =] FEAN B 36 W
R RC—40 t=15em g 107
i +=10mm = 63
YRR g —h 18N/mm2 o T2 Ry
I = 97.3
R RC—40t=20em g 60-0
B SP345- D16 ke 484
LBt b T RS H=09 4 10 ERER39E
e AL {& 0
PRI H=10 Ehe 0
. H 25 f& 0
e . FeLks L +0
T e e e O P Ge=B=28 o
d;il;i:( . 27° _}\4:\ ;’g
?‘71'233(—!‘ b A 7o 50 $
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